O ey Eehngony 1™

| CQO A ] P = StufFon H’\r@/{ufﬂ_
5 V) STWFFUH HC lf -
C) 2P CGMR DA ——— ~—w —~/
T Ay ‘ C) = Q¥ V”}t«w i:} = |

O, MV (O Q,
KFW(’E grev

reoCtanN s

L1 T S
amnt K;’W(! > prev -
JP_- Time

prociuadas; _ nmns cc(pmt)mum EXPQESSW\IV

ool IO O‘%Uu o i o
comge C -0.0003 + Oouioa X2 v

wang £ 0. 227 00126

iy
M,  time
b o e D N pil

ks S0l - 00T . [G CoaTip gl
CTINDOGTT 0.033%T |

_ K . kend
= AH_ZO 4 C ey

NO_?"— . = ! i e

Maby, XWNErse of one
arotiher v

— _ profie _ |

M ZNu9) o= NpOg(g) Ko = ENgO4l l_Q_Q}ﬂ_@

I 0.000 O T3 0.0j08?

¢ 0.0492 +ix 0019 lv[2]0.91]

.6, O' 0 ‘ O c 5 O,»OZ,‘T@
—ts LMDV A




LAG) ¢ 2B (3)= BC(g) +4D(L) Feoruang ™

Feor K - 0|
T S

aepp A Cel?
giaSse sl

]

CoCl g (5) — (0, (9) * Cal(s)

Ke= LLO 1,#]
| %I Qs o0 spnal, Shift
CO9) + Cau(s) — CaCla(s) ‘““gﬁd‘"‘@ QDS Oy Aot

4. GOV N L

. | | __
R _l_éc _"-‘ l CO_»)/ E - ﬂ w;m@m& De= CC ‘je't.h‘,,g,
ey e e
ST 00w 0.040 €~ = = = =o  LNa04lge 0.090 . pp 0.,
C —2x + X ¢ pwaiL -owot
U000 =7 OO0 X L I “
B vow0-ix Q.00 X oes 'r'“W‘-}‘Nii_'{fi,{, CI T e

. = L—N’LU({} 0.010+ x OE i€ +0i g
o ® 2 e = 2
I C L( ( CWZ—SL ('OJDWO "‘2)()2- — 5 = 2”?



